SGJ DAV SEN. SEC. PUBLIC SCHOOL, HARIPURA
Class — 8th (Assignment)
Date — 28.08.2025

Instructions:

Dear Students,

We are sending you Homework. You have to solve this work in your notebook in a neat and clean
way. You have to submit this work after the opening of school to your Subject Teacher.

English
Q1. Write down an article on the topic ‘Caring for the Elderly’.
(6Marks)
Ans. Caring for the Elderly
‘Family is not an important thing, it is everything.’
‘When grace is joined with wrinkles, it is adorable. There is unspeakable dawn in happy old age.’-
Victor Hugo
‘One person caring about another represents life’s greatest value.’- Jim Rohn
Elderly is a reference to old people who have crossed middle age. The old age is an integral part
of human life. It is the evening of life. It is unavoidable, unwelcomed and problem ridden phase
of life. We all are compelled to face pain and pleasure of life. Old age completes the life pattern.
It has its own pleasures though different from youth. Elderly people are precious. They are the
revered members of our family. They are a storehouse of knowledge. They teach us respect,
perseverance and wisdom. By being with them and caring for them establish relationships. We
learn patience and tolerance by caring for them. As they have lived long they know life very well.
They have been through ups and downs of life. We learn from them to face problems patiently.
They teach us the value of family, relationships and life. Talking to the elderly gives them peace
of mind and sense of security. It helps them by taking away their despair, depression, loneliness
and so on. Their eyes speak of gratitude, love and happiness. Taking care of the elderly improves
our self-knowledge and our identity. It develops potential and renews our self-esteem. It rewards
us in many ways. It also enhances our quality of being human as humanity also plays a crucial
role in taking care of elderly. We all are bound to complete the cycle of life and face the old age;
we’d all want someone to care for us. Caring for the elderly is a reward in itself.
Tia Walker says- ‘To care for those who cared for us is one of the highest honour.’
Q2. The narrator’s meeting with the woman begins with his being flattered and hospitable and
ends with being mortified and disgusted. Discuss his different states of mind.
(4Marks)
Hints- The narrator received a letter from a fan of his, passing through Paris , could ill-afford to
visit Foyot’s, didn’t mind treating her to lunch, suffered his first setback when he saw that the
woman was not so young and attractive, he started worrying whether eighty francs would be
enough to pay the bill,
he left a tip of just three francs , bid goodbye to the woman fully disgusted, mortified and worried



Q3. Swami went to school feeling that he was the worst perjurer on Earth. Describe Swami’s
character -sketch in about 60-80 words.

(4 Marks)
Hints- Swami was entangled in his own excuse, felt like a worst perjurer on the earth , was not
at all sure if he had been accurate in his description, could not decide how much of it was real or
imagined, told a lie about his teacher, facing Monday morning blues, realized his mistake
Q4. Discuss title of the story ‘Three Questions’.

(4 Marks)
Ans.- ‘Three Questions’ is a title which arouses the reader’s interest in the story. In life every
individual is faced with certain questions; so the reader reads this story inquisitively to know
which questions have been dealt with and if they can be of some practical use to him. The whole
story revolves around the king’s efforts to get answers to the three most important questions which
can help one succeed in life. The questions are as important for the reader as they are for the king.
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Maths
Q1. A die is thrown at random. Find the probability of getting
(1)  aneven prime number (i1) a composite number (2marks )

Sol: Hint: find total outcomes and favourable outcomes and then fill in formulas.
__ Favourable outcomes

(P B total outcomes )
Q2. From a well shuffled Deck of 52 cards one card is drawn at random. Find the probability of
getting:

(1) a red card (i1) a face card. (2marks)

Q3. A train 240m long is running between Abohar to Delhi at a speed of 90km/hr. How much

time will it take to cross a platform 160m long?
(3marks)

Dis . . .
before using formula convert units of speed same as time.

Sol: Hint: Use formula T =
Speed

Q4. A train 380m long is running between Delhi to Mathura at a speed of 72km/hr. How much
time (in sec) will it take to cross 160m long bridge?
(3marks)



Q5. Divide the polynomial 2x*+ 8x° + 4x + 7x% + 3 by x + 3. Also, verify your answer.
(Smarks)
Sol: Hint: First check standard form and if any term is missing then write with 0 as coefficient
then according to power divide and then check.
Q 6 Divide 8z° + 486z — 729 — 108z> by -9 + 2z by long division method and check weather
second polynomial is a factor of first or not.
(5marks)

Science

Q1. Name the following-
(a) A petroleum product used for making roads
(b) A fuel used for extraction of metals
(c) A major renewable natural resource of energy. (3 Marks)
Answer -(a) Bitumen — a petroleum product used for making roads.
(b) Coke — a fuel used for extraction of metals.
(c) Solar energy — a major renewable natural resource of energy.
Q2.(a) Why are objects moving through fluids given special shapes?
(b)Give examples of any two objects whose designing is done to make them have these special
shapes.
(c) How does air resistance change when the surface area of the body falling in air increases?

(3 Marks)
Answer - (a) Objects moving through fluids are given special streamlined shapes to reduce
friction (drag) offered by the fluid.
(b) Examples: Aeroplanes
Ships / Boats / Cars / Birds (any two)
(c) When the surface area of the body falling in air increases, air resistance increases.

Q3. Sometimes in spite of all precautions and protective action,our eyes may develop some
defects. These can be due to a variety of reasons. Identify the eye defects in the following
conditions-

(a) Defect caused due to elongation of eyeball

(b) Eye Lens becomes hazy or even opaque

(c) Image of a nearby object gets formed behind the retina.

Answer - (a) Myopia (short-sightedness) — caused due to elongation of eyeball.

(b) Cataract — eye lens becomes hazy or opaque.

(c) Hypermetropia (long-sightedness) — image of a nearby object formed behind the retina.

Q4. A metal 'X' when treated with cold water gives a base "Y' with formula XOH and liberates a
gas 'Z' which easily catches fire.

(a) Identify X, Y and Z.

(b) Write a balanced chemical equation for the reaction involved. (3Marks)



Answer - A metal 'X' reacts with cold water to give base 'Y' and gas 'Z"

(a) X = Sodium (Na)
Y = Sodium hydroxide (NaOH)
Z = Hydrogen (H[)

(b) Equation: Check in text book

Q5. Explain why-

(a) Sand is used to extinguish fires caused by petrol.

(b) A piece of paper burns quickly when a burning matchstick is brought near it.

(c)Water is not used in controlling electrical fires.

Answer - (a) Sand is used to extinguish petrol fires because sand cuts off the supply of air
(oxygen) and absorbs the petrol, preventing spreading.

(b) Paper burns quickly with a matchstick because its ignition temperature is low, so even the
small heat of the matchstick is sufficient to catch fire.

(c) Water is not used in electrical fires because water conducts electricity and may cause electric
shock; instead, carbon dioxide or dry powder extinguishers are used.

Social Science
Note: Make this concept maps on your fair note book.
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